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Verification of notes is a Derabonon — 71297 N1LR 2P

OVERVIEW

The X2 states here that n1Avw 0P is only 71127772; (seemingly) meaning that
70 if a M7 presents a TwW he is entitled to collect with it and does not require any
orp (even if the M7 claims it is a forged document). Moon is puzzled by this ruling.

nooIn asks:
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It is astounding! Since Xn»TR7» a "ww is "w> even if there are no witnesses

who recognize the signatures of the witnesses -
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If indeed this is true, anyone who so desires will forge a document and write
and sign (fake signatures) whatever he desires and will be able to collect with
this document!!

mooIn attempts to modify the meaning of 11277 MWW arp:’
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And the >'"'1 explains that when the X77) states here 11277 n17vw ovp, that can be
explained to mean in a specific case, for instance where the 7% admits that the
Tvw was written with his consent (he borrowed the money) but the 7% claims that
the loan was paid up -

- 132990 KXY 91 B IRNY “1IPY TP98 1aNIY YOV NTINT NI SND 920P)
And we will assume that the Xin of this 71w» maintains that 2anow [wwa 778

%R 791, and this 2199 (for a 1200w w2 77n) is certainly a 339 requirement, for
7707 11 no 2P would be required and the m%» would collect his debt.

! We are discussing a case where the m> claims the note is forged (otherwise if he admits that it is a proper note, there
is no need (generally) for ovp [see later in this nooN]), and nevertheless 7707 7 the M1 can collect without 2wp.
2 ';n cannot understand how is it possible that 7707 12 even if the M% (or 121m) claims that the note (of sale) is
forged, he will have have no recourse at all, and the holder of the note will collect with it. We can imagine the chaos
that will result from such a ruling!
3 The "1 attempts to answer that [obviously] if the Mm% (or 121) claims that the 0w is A°1n, it will require 2P even
Xn»X71, and when the X7n3 states here that 131277 mnow avp it is referring to a specific case.
* This refers to the mwn which states that a 173 wyaw P and a YW 2173 can be 0»pn the Tuw. See ‘Thinking it over’.
> MPY 7Y 1205w Tuw3a A7 means that if the M7 admits that the VW was written on his say so (i.e. he admits to
borrowing the money) however he claims that the debt was paid, the rule is (according to this 7"n) that the m>n
cannot collect unless he is first 27pn the T0w; otherwise the M> has a 21 of 7>y, This requirement (according to the
1M*P% TIX 7"n) is only 32972, Another 7" maintains that no 0°p is required even 131277.
% We know for sure that the Jvw is valid, since the i admits to borrowing; the purpose of the 01p is to remove the
137 of the M2 to claim 7. This 01 can be understood to be only 113777, since the 7127 is holding a valid "ow.
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mooIn offers another example where NMvYY 0P could be 112777 (only):
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Or you may also say where for instance the "vw was 2%"p» from only one field,
or from two fields but the M is holding those nyvw -
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Where the X723 previously said that it is not a sufficient 21°p, because we are

concerned perhaps he forged the signature; in such a case we can also understand that the
requirement to be 0»pn that W is 13:1773.9 However where the m? claims 7> then (seemingly)
mAvw orp should be 7707 1. This is how we could have explained it based on our X773,

mooIn has a difficulty:
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However in the beginning of Pws3 noon it is evident that even when we do not

recognize the signatures at all -
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It is considered xn>mR7» as if their testimony has been verified by 7''92; non
finds it very difficult to justify this concept.

SUMMARY
It is understandable that 21°p is 73127771 in the case of 12n2w w2 777 or if it was an
inferior o1°p, but not that 01°p in general is 112777.

THINKING IT OVER

Moo explains that here we can understand that 21°p is 112777 in a case where it is
12N0W w31 A7, Seemingly the reason why 0w 777 requires a 01°p 1s because he
has a 7 m7 .M In our mwn if there is a Myw 2173 who is 0»pn the 70w, the 1 of
711 1s thwarted since he will be required to swear. He is considered a 7312w 2707
yaw*» 912° 1K1 where we rule that he has to pay,'” so the yw 9173 alone makes him
pay there is no need for the Y701 jop! "

T A nnR 770N 0P is not a valid 132771 21°p (we require two M7 [and *"nnn KX 1K]).
¥ The mn of the 7uw in question has other n1vw which he is holding that the same 07v signed on them as well.
? In this case too we have a 01p already, except that the 1127 were not satisfied and wanted a better vp.
' The xm3 there asked how is one %W believed to testify that the b3 was signed properly, and answered that since
13277 MY arp therefore by v where there is the concern of mnay, the 0°non were lenient allowed one 7¥ to be
believed. It is evident that in general a1p is only 112777.
' See footnote # 4.
12 See 8,79 2"
13 See 02178 N9°X and TPPNN MR 29177 MIDWA.
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